#### HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

#### Acharya Donde Marg, Parel, MUMBAI - 400 012

#### COVID19 TASK FORCE

#### MATERIAL RECEIPT FROM DONORS UNDER C.S.R.



#### 3 PLY MASKS

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	12-May-20	10:00AM	AMERICARES INDIA FOUNDATION PVT.LTD.	GJ-15-AT-7956	MR. MITRA	13	8,000	104,000
2	12-May-20	10:00AM	AMERICARES INDIA FOUNDATION PVT.LTD.	GJ-15-AT-7956	MR. MITRA	1	6,000	6,000
Total								110,000

Bolinary

1 of 1

#### HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

Acharya Donde Marg, Parel, MUMBAI - 400 012 COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.



# PPE KIT ( DISPOSABLE PROTECTIVE SINGLE UNIT,3 PLY MASKS,SHOE COVER,HAND GLOVES,PROTECTIVE EYE WEAR,BIODEGRABLE GARBAGE BAGS)

Sr. No.	Date of Receipt	Time of Receipt		Name of Domor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	12-May-20	01:50 P.M	HDFC LTD		MH-04-HD-6127	MR UPHAAR PRAMANIK- HDFC	100	20	2,000
2	12-May-20	01:50 P.M	HDFC LTD		MH-47-E-2231	MR UPHAAR PRAMANIK- HDFC	50	20	1,000
							Δ	Total	3,000

7- PPE KIT

#### HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED

Acharya Donde Marg, Parel, MUMBAI - 400 012

#### COVID19 TASK FORCE MATERIAL RECEIPT FROM DONORS UNDER C.S.R.



Total

#### FACE SHIELD

#### **Total Received** Time of Name of Donor Vehicle No. **Concerned Person Boxes Received** Units per Box Sr. No. Date of Receipt Quantity Receipt 12-May-20 11:00 AM ASHTHAVINAYAK INDUSTRIES, DAMAN DD-03-K-9708 Mr. Arvind Shah 59 100 5,900 1 DD-03-K-9708 Mr. Arvind Shah 82 100 8,200 2 12-May-20 11:00 AM ASHTHAVINAYAK INDUSTRIES, DAMAN 3 ASHTHAVINAYAK INDUSTRIES, DAMAN DD-03-K-9708 Mr. Arvind Shah 117 100 11,700 12-May-20 11:00 AM

25,800

### HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

PPE KIT (Disposable Coverall suit, surgical cap, shoe cover, N95 face mask, surgical gloves, clear lens goggles, waste bags, Disposable plastic Apron, chain wrap)

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	12-May-20	7:00 PM	TETRA PAK INDIA PVT.LTD	GJ27V8332	MR.Sunil Tembe	112	30	3,360
2	12-May-20	7:00 PM	TETRA PAK INDIA PVT.LTD	GJ27V8332	MR.Sunil Tembe	1	20	20
							Total	3,380

### HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED Acharya Donde Marg, Parel, MUMBAI - 400 012 COVID19 TASK FORCE

## MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

PPE KIT (	PE KIT (Body Suit-Non Woven, Shoe Cover-Non Woven, Clear Vision Goggles, Nitrile Gloves, Apron, Biohazard Bag, N95 Mask)						1.20/	
Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	12-May-20	10:00 PM	LARSEN & TOUBRO LIMITED	MH-43BG-7595	MS. DEEPINDER JANEJA	10	70	700
2	12-May-20	10:00 PM	LARSEN & TOUBRO LIMITED	MH-43BG-7595	MS. DEEPINDER JANEJA	1	40	40
							Total	740